Recall from our prior discussions that ...

[T] Theorem lim f(x) = L if and only if lim f(x) = L= lim f(x)

Let's look at a couple of unique functions:
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Evaluate the following limits...
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Check for any point(s) of discontinuity...

—x*+2 if x<l1
1, if x=1
—2x+3 , if 1<x<3
-3 , if x>3

Sketch f(x)...



Check for any point(s) of discontinuity...
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Warm Up

Given the function...

(x+2P+1 ifx<-1

2 if x=1
h(x)=14x+1 if—1<x<3
x—4+1 if3<x<5
T—x if x>5

(1) Examine A(x) for any points of discontinuity. Provide a mathematical
reason for any point of discontinuity.

(2) Sketch A(x)
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Homework
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